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(1-5) :

Q S P U V R W T

27th
24th 45 th 35th 38 th 55th 49 th40th

1. (3) 2. (2) 3. (3) 4. (2) 5. (2)

(6-10) :

N
(Canada)

X
(China)

L

V
(France)

M
(Nepal)

K
(Australia)

U
(India)

W
(Algeria)

(Fizi)

6. (2) 7. (4) 8. (5) 9. (3) 10. (4)

(11–15) :

©   > @  < ®  = $  < #  >

11. (3) Combining all statements

M < A > L > D

I. M < L  False

II. A > D  False

III. D < A  True

Only III is true

12. (2) Combining all statements

W = X < M < K

I. K < W  False

II. M > W  True

III. K > X  True

II and  III are true

13. (2) Combining all statements

B < D < R > J

I. J > B  False

II. R > B  True

III. J = D  False

Only II is true

14. (5) Combining all statements

G > K > H = F

I. F < K  True

II. F < G  True

III. H < G  True

All are true

IBPS  PO SPECIAL PHASE -I MOCK TEST - 262 (SOLUTION)
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15. (5) Combining all statements

H = O < V < K

I. K > O  True

II. V > H  True

III. H < K  True

All are true

(16–20) :

Madhav Mukesh Mayank Mohan Manveer

Krishna Kamal Kumar Kishor Karan

16. (4) 17. (2) 18. (3) 19. (5) 20. (2)

(21-25):

21. (2)

CarBus

Turck

Tra
in

I. True II. False III. False IV. False

Only I follows

22. (1)
CricketerFootballer

×

Winner

I. False II. False III. False IV. False

None follows

23. (3)

Table

Glob
esBooks

×
Chai

r

I. Doubt II. Doubt III. False IV. False

Either I or II follows

24. (4)
Sari

Shirt Hook Pen
×

I. False II. False III. True IV. False

Only III follows

25. (2)

Riv
er BoatShell

Brick

×

I. True II. False III. True IV. False

Only I and III follow
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(26–30) :

E
(Ludo)

O
(Chess)

N
(Football)

F
(Polo)

H
(Shooter)

G
(Cricketer)

M
(Hockey)

P
(Swimmer)

26. (3) 27. (4) 28. (2) 29. (2) 30. (3)

(31-32):

P
(+)

V
(–)

S
(–)

R
(+)

K
(+)

Q
(+)

M
(–)

U
(+)

31. (1) 32. (5) 33. (4)

(34-35):

V U

T

R

W

S

Q

10m

11m

5m

6m

4m

8m

34. (5) 35. (3)

Maths

(36-41) :

36. (2) Required ratio = 

10 10
400 250

100 100
8 10

500 360
100 10

  

  
 = 65 : 75

37. (1) Required average = 

8 6 10 12
500 400 360 250

100 100 100 100
4

      

= 
130 65 1

32
4 2 2

 
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38. (3) Students participating in dance from Class VII = 
60

400 240
100

 

Students participating in dance from Class IX = 
12

250 30
100

 

Required percentage = 
10 100 1

100 % % 33 %
30 3 3

 
    
 

39. (4) Students who don't participate in dance and play from class VI = 500 – (15% + 8%) of 500

= 500 – 
23

×500
100

 = 385

Students who do not participate in dance and play in class IX = 250 – (10% + 12%) × 250

= 250 – 55 = 195

Required sum = 195 + 385 = 580

40. (1) Students who participate only in dance from class VI = 
15 20 15

×500 – × ×500
100 100 100

= 75 –
1

×75 = 60
5

Students who participate only in dance from class VI =
8

×500 –15
100

= 40 – 15 = 25

Required ratio = 60 : 25 = 12 : 5

41. (4) Required percentage = 

 
 
  
  
 

10
×400

100 100 %
12

250
100

= 
 
  

 

10 400 1
100 % = 33 %

12 250 3

(42-46):

42. (4) The number series is :

3

+2 +10 +30 +68 +130

5 15 45 113 243

1 +13 2 +23 3 +33 4 +43 5 +53

43. (3) The number series is :

17 98 26 89 35 80

+9 +9

–9 –9
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44. (3) The number series is :

3240 540 108 27 9 4.5

6 5 4 3 2    

45. (1) The number series is :

7 4.5 5.5 12 49 393

×0.5+1 ×1+1 ×2+1 ×4+1 ×8+1

46. (4) The number series is :

2 17 89 359 1079 2159

×6+5 ×5+4 ×4+3 ×3+2 ×2+1

(47-52):

47. (2)      80.997 – 25.001 120.90 16.02 ?

? = (9 – 5) × (11 + 4)

? = 60

48. (1) 55.01 – 345.02 ÷ 22.99 = 2 × ?

2 × ?  55 – 
345

23

? = 20

49. (2) 3099.985 62.001 14.001 ?  

? = 
3100

14
62

 =  50 14 8

50. (4) ( 111.99 × 5)   14.02 = 11.002 + ?

11 + ?  (112 × 5) ÷ 14

? = 40 – 11 = 29

51. (4) 24.97% of  84.01 ÷ 6.995 = ?

?  
25 84

100 7
 = 3

52. (4)
29

184.002 – 29.99 ?
5

 
   
 

?  
 
  
 

29
184 – 30

5
 = 

 
  
 

184 5 – 29
30

5

= 
891

30 5346 5340
5

  

53. (3) At present sum of age = 76 years

After 7 years sum of age will be

7x + 6x + 5x + 8x = 76 + 7 × 4

26x = 76 + 28

x = 
104

26
= 4

C's present age = 5x – 7

= 20 – 7 = 13 years
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54. (2) Sum of length of train A and B = 660 m

A + B = 660

Let speed be 5x and 8x

and time taken to cross pole be 4y and 3y

So,

5x × 4y + 8x × 3y = 660

44xy = 660

xy = 15

A – B = 24xy – 20xy

= 4xy = 4 × 15 = 60 meters

55. (1) 40% of new mixture = 20L

100% of new mixture = 
20

40
 × 100 = 50L

ATQ,

28 + x + 8 + x = 50

2x = 50 – 36

x = 7L

56. (4) Time taken by A in completing 1/3 of work = 24 × 
1

3
 = 8 days

8 day = time taken by B in completing 
1

2
 of work

B alone will complete the work = 16 days

 Required time = 



16 24 48

40 5
days

57. (5) MP = 1600 + CP ............(i)

MP – 500 = 
125

CP
100

MP = 
5

CP 500
4

4MP = 5CP + 2000 ..........(ii)

Solving (i) and (ii)

CP = ` 4400

 Required selling price = 
130

4400
100

  = ` 5720

58. (1) Let d = 4x and h = 3x

Total surface area of right circular cylinder is 2r (r + h)
Where r radius

h height

 
 
  

2
3 3

2 (2 3 ) – 3
2 2

  
       

x x
x x x x 

2 [10x2 – 6.75x2] = 318.5

6.5x2 = 318.5
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x2 = 49

x = +7

radius (r) = 14 cm

height (h) = 21 cm

 Circumference of base of cylinder = 2r = 28cm2

59. (2) Let digit be xyz

ATQ,

y = 3

(100z – 10y – x) – (100x – 10y – z) = 396

99z – 99x = 396

z – x = 4

And it is given that

z + x = 14 ........(i)

Solving (i) and (ii)

z = 9

x = 5

So, number is 539

60. (2) Let 4 consecutive even number is x, x + 2, x + 4, x + 6

ATQ,

1 1 11

2 60
 

x x

 
2 11

2 60

 




x x

x x

 
2

1 11

602x




x x +

x

120x + 120 = 11x2 + 22x

11x2 – 98x – 120 = 0

x = 
–24

,10
22

 Third number is 14 and reciprocal of 3rd highest no. is 
1

14
.

61. (4) Profit will be shared in ratio = 12 × 6 : 8 × 
9

8
8

 
  
 

 : 9 × 12

= 12 × 6 : 8 × 9 : 9 × 12 = 2 : 2 : 3

C's profit = 
16750

3
2

 = ` 25125

62. (1) Downstream speed = 
18

3
 = 6 km/hr

x + y = 6 (when x   speed of boat in Still water, y   speed of current)

Speed of water = 
1

6 2km /hr
3
 

Speed of boat in still water = 4 km/hr

Required time = 
 
100

4 – 2
 = 50 hour
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63. (2) Let M.P. = x

The cost price and selling price be 5y and 6y

ATQ,

80%x = 6y

x = 
30

4

y
 = 7.5y

Required percentage = 
7.5 5

100 %
5

 
  
 

y – y

y

= 
2.5

100 %
5

 
  
 

y

y
 = 50%

64. (4) Total expenditure = 80% of salary

Expenditure excluding clothing = 80% – 
25

80%
100

  = 60% of savings

Ramesh savings = 
3600

20
60

  = ` 1200

(65-70):

65. (4) Total no. of hats sold on Wednesday = 64 + 48 = 112

Total no. of hats sold no Tuesday = 60 + 36 = 96

Required % = 
112 – 96

100 %
96

 
  
 

 = 
2

16 %
3

66. (2) No. of hats sold on Friday by A after increase = 56 × 
8

7
= 64

Average no. of hats sold on Monday, Wednesday and Friday by A = 
46 64 64

3

 
 = 58

67. (5) No. of hats sold on Saturday = 112 × 
15

14
 = 120

68. (3) No. of hats sold on Monday and Wednesday by A = 34 + 48 = 82

No. of hats sold on Friday by A and B together = 56 + 40 = 96

Required Difference = 96 – 82 = 14

69. (1) Hats sold on Thurday that are not defected = 
20 25

60 52
100 100

    = 12 + 13 = 25

70. (2) No. of hats sold on Tuesday & Friday by A = 36 + 56 = 92

No. of hats sold on Tuesday & Friday by B = 60 + 40 = 100

Required Ratio = 92 : 100 = 23 : 25
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ENGLISH LANGUAGE

(91-100):

91. (2) Replace 'of' by 'due to'.

92. (4) Change 'make' into 'makes'.

93. (3) Change 'him' into 'his'.

94. (2) Change 'accuse' into 'accused'.

95. (2) Change 'centre' into 'centres'.

96. (3) Replace 'much' by 'many'.

97. (2) Change 'complete' into 'completely'.

98 (1) Replace 'when' by 'after'.

99. (3) Change 'has' into 'have'.

100. (1) Replace 'which' by' that/who'.

VOCABULARIESVOCABULARIES

Words Meaning in English Meaning in Hindi

Elegant pleasingly graceful and stylish in appearance or manner :fpdj

Bird's eye view a view of something from a high position looking down mQijh rkSj ij ns[kuk

Impose force to be accepted or put in place Fkksiuk

Exploitation the action of making use of and benefiting from resources 'kks"k.k

Ethical morally correct or acceptable uSfrd

hapless  unfortunate cnfdLer

Remittances a sum of money sent Hkstk gqvk èku

Alleviate make something less severe de djuk

Plight a dangerous, difficult, or otherwise unfortunate situation fodV ifjfLFkfr

Detrimental tending to cause harm gkfudkjd

Profuse exuberantly plentiful; abundant izpqj

Augmenting increase c<+kuk
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2. (2)

3. (3)

4. (2)

5. (2)

6. (2)

7. (4)

8. (5)

9. (3)

10. (4)

11. (3)

12. (2)

13. (2)

14. (5)

15. (5)

16. (4)

17. (2)

18. (3)

19. (5)

20. (2)

21. (2)

22. (4)

23. (3)

24. (4)

25. (2)

26. (3)

27. (4)

28. (2)

29. (2)

30. (3)

31. (1)

32. (5)

33. (4)

34. (1)

35. (3)

36. (2)

37. (1)

38. (3)

39. (4)

40. (1)

41. (4)

42. (4)

43. (3)

44. (3)

45. (1)

46. (4)

47. (2)

48. (1)

49. (2)

50. (4)

51. (1)

52. (4)

53. (3)

54. (2)

55. (1)

56. (4)

57. (5)

58. (1)

59. (2)

60. (2)

61. (4)

62. (1)

63. (2)

64. (4)

65. (4)

66. (2)

67. (5)

68. (3)

69. (1)

70. (2)

71. (1)

72. (3)

73. (2)

74. (5)

75. (5)

IBPS  PO SPECIAL PHASE -I MOCK TEST - 262 (ANSWER KEY)

76. (4)

77. (3)

78. (5)

79. (3)

80. (4)

81. (2)

82. (4)

83. (1)

84. (3)

85. (5)

86. (3)

87. (2)

88. (5)

89. (4)

90. (5)

91. (4)

92. (4)

93. (3)

94. (2)

95. (4)

96. (2)

97. (5)

98. (4)

99. (3)

100. (1)


